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QUESTION 1

SQL> CREATE BIGFILE TABLESPACE MRKT 

2 DATAFILE \\'/u01/app/oracle/oradata/orcl/mrkt.dbf\\' size 10M LOGGING 

3 EXTENT MANAGEMENT LOCAL SEGMENT SPACE MANAGEMENT AUTO; 

Tablespace created. 

SQL> ALTER DATABASE DEFAULT TABLESPACE MRKT; 

Database altered. 

Which two statements are true regarding the MRKT tablespace? (Choose two.) 

A. No more data files can be added to the tablespace. 

B. Segment space is managed by free lists in the tablespace. 

C. A user created without being assigned a default tablespace uses this tablespace. 

D. The tablespace can be dropped with the current setting with segments present in it. 

Correct Answer: AC 

 

QUESTION 2

In which of the scenario will the DBA perform recovery? (Choose all that apply.) 

A. The alert log file is corrupted 

B. A tablespace is accidentally dropped 

C. One of the redo log members is corrupted 

D. A database user terminates the session abnormally 

E. The hard disk on which the data files is stored is corrupted 

Correct Answer: BE 

 

QUESTION 3

Identify the logical structure that will never have more than one data segment created for it. 

A. external table 

B. partitioned table 

C. partitioned index 
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D. nonclustered table 

E. global temporary table 

Correct Answer: D 

 

QUESTION 4

Which are three of the various resources that must be accessible to keep a database open? 

A. SYSTEM tablespace 

B. spfile 

C. all members of a redo log group 

D. SYSAUX tablespace 

E. control file 

Correct Answer: ADE 

 

QUESTION 5

Which statement is true about loading data using the conventional path of SQL*Loader? 

A. Redo is not generated while performing conventional path loads 

B. Only PRIMARY KEY, UNIQUE KEY and NOT NULL constraints are checked 

C. No exclusive locks are acquired when the conventional path loads are performed 

D. Instead of performing transactions, SQL*Loader directly writes data blocks to the data files 

E. INSERT triggers are disabled before the conventional path load and reenabled at the end of the load 

Correct Answer: C 

 

QUESTION 6

Examine this LISTENER.ORA file: 
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How should you configure and start an additional listener LISTENER2 that listens for the same SID? 

A. Create another configuration file called LISTENER2.ORA with only LISTENER2 details in it 

B. Add LISTENER2 and its SID_LIST details separately under the name LISTENER2 in LISTENER.ORA 

C. Add relevant details in DESCRIPTION under the existing LISTENER with a different port number in LISTENER.ORA 

D. Add relevant details in SID_LIST_LISTENER under the existing LISTENER in LISTENER.ORA 

Correct Answer: B 

 

QUESTION 7

Which is true about the SYSTEM and SYSAUX tablespaces? 

A. Both tablespaces can be used for temporary storage if no temporary tablespace is defined 

B. Both tablespaces must be online for a database to be accessible 

C. The SYSAUX tablespace can be made read-only but the SYSTEM tablespace cannot 

D. Only the SYSTEM tablespace contains data dictionary tables 

Correct Answer: C 

 

QUESTION 8

Which two statements are true regarding listeners? (Choose two.) 

A. Listeners use only the TCP/IP protocol. 

B. Multiple listener processes can run simultaneously on a host. 

C. Multiple database instances can be registered with a single listener. 
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D. The listener-related errors can be traced only at the administrative level. 

E. Only one database instance can be registered with a single listener at any time. 

Correct Answer: BC 

 

QUESTION 9

Examine the following output: 

Which two statements about the above index are true? (Choose two.) 

A. It is ignored by the query optimizer. 

B. It is not used while the index is being rebuilt. 

C. The index cannot be rebuilt, and has to be re-created. 

D. The index is automatically rebuilt when used the next time. 

Correct Answer: AB 

 

QUESTION 10

Identify the two situations in which you use the alert log file in your database to check the details. (Choose two.) 

A. Running a query on a table returns "ORA-600: Internal Error." 

B. Inserting a value in a table returns "ORA-01722: invalid number." 

C. Creating a table returns "ORA-00955: name is already used by an existing object." 

D. Inserting a value in a table returns "ORA-00001: unique constraint (SYS.PK_TECHP) violated." 

E. Inserting a row in a table returns "ORA-00060: deadlock detected while waiting for resource." 

Correct Answer: AE 

 

QUESTION 11
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You are working on an instance started using the SPFILE. You want to move the Flash Recovery Area of your database
to a new location. You want the Flashback log files to be stored in the new location. Given below are the steps to
accomplish the task in random order: 

1) Shut down the instance. 

2) Change the value of the DB_RECOVERY_FILE_DEST initialization parameter to a new value. 

3) Execute the ALTER DATABASE FLASHBACK OFF command. 

4) Start up the instance and mount the database. 

5) Execute the ALTER DATABASE FLASHBACK ON command. 

6) Open the database. 

Select the correct order in which these tasks need to be performed. 

A. 2, 1, 4, 3, 5, 6 

B. 1, 4, 3, 2, 6, 5 

C. 1, 4, 2, 6, 3, 5 

D. 3, 2, 1, 4, 5, 6 

Correct Answer: A 

 

QUESTION 12

Examine the values for the following initialization parameters: 

FAST_START_MTTR_TARGET=0 

LOG_CHECKPOINT_INTERVAL=0 

Which two will be the implications of these values in your database? (Choose two.) 

A. The SGA advisor will be disabled 

B. The MTTR advisor will be disabled 

C. Automatic checkpoint tuning will be disabled 

D. Checkpoint information will not be written to the alert log file 

Correct Answer: BC 

 

QUESTION 13

View the Exhibit. 
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You are creating an additional database by using the Database Configuration Assistant (DBCA). You opted to create a
General Purpose database and during the database creation realize that the Block Size field is not enabled. 

What could be the reason for this? 

A. You have chosen the File System option as the storage option. 

B. You have chosen the Automatic Storage Management (ASM) as the storage option. 

C. The data block size can be increased only when DBCA is invoked from Oracle Universal Installer (OUI). 

D. You are using General Purpose template and not the Custom Database template to create the database. 

Correct Answer: D 

 

QUESTION 14

Identify three situations in which you would NOT be able to drop a tablespace. (Choose three.) 

A. when the tablespace is online 

B. when the tablespace has segments with data in it 

C. when the tablespace is a default permanent tablespace for the database 

D. when the tablespace contains a table that is currently being used by transactions 

E. when the tablespace contains undo data that is needed to rollback an uncommitted transaction 
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Correct Answer: CDE 

 

QUESTION 15

View the Exhibit and examine the initialization parameter settings. 

Which three initialization parameters are to be set manually as they are not automatically tuned? (Choose three.) 

A. LOG_BUFFER 

B. SORT_AREA_SIZE 

C. JAVA_POOL_SIZE 

D. STREAMS_POOL_SIZE 

E. DB_16K_CACHE_SIZE 

F. DB_KEEP_CACHE_SIZE 

Correct Answer: AEF 
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